Rect (f,N,a,b):={

| ocal RV,RR R Kk, av, ap, C

RV: =NULL; RR: =NULL;

for (k:=0; k<=N; k++) {

av: =a+k*(b-a)/N;, //avant. ..

ap: =a+(k+1)*(b-a)/ N //aprts...

R =pol ygone( poi nt (av, 0), poi nt(av, f(av)), point(ap,f(av)), point(ap, 0)); /
RR =RR, coul eur (R cyan+renpli); //on renplit |es rectangles

RV: =RV, coul eur (R, bl eu+line width 3); //le contour en plus @ais

Qw—‘

(f(x),x=a..b,affichage=rouge+line width 3); //la courbe

pl ot
eturn(RV,RR, C); //les 3 graphes superpos@s

- =

/l Parsing Rect

Done
» 0O o
0 X:3.2904
:1.0312
parameter(n,1,10,9.9
» . D
Too large for display
0.5
{0
~0.5




Trap(f, N a,b):={

| ocal RV,RR R Kk, av, ap, C

RV: =NULL; RR: =NULL;

for (k:=0; k<=N; k++) {

av: =a+k*(b-a)/ N,

ap: =a+(k+1)*(b-a)/ N

R =pol ygone( poi nt (av, 0), poi nt(av, f(av)), point(ap,f(ap)), point(ap, 0));
RR =RR, coul eur (R, cyan+renpli);

RV: =RV, coul eur (R, bl eu+line_wi dth 3);

- =pl ot (f(x), x=a..b, af fi chage=rouge+line width 3);
eturn(RV,RR O);

~= 0~

/I Parsing Trap
/[ Warnina: X_declared as alobal variable(s) compilina Trap

11

Done

.

En::element(l .. 10,5.04

parameter(n,1,10,5.0
E Trap(x->cos(x),floor(n)
Too large for display

I

aireRect(f,N, a,b):={
| ocal k;
fvalf(sun{(b-a)/N*f(a+k*(b-a)/N),k:1..N));

/I Parsing aireRect
/[ Success comnilina aireRect

M aireRect(x->x"2,10,0,1)




i’;\irel'l'rap(f,N, a,b):=1
oca ;
eyglf((b-a)/N*((f(a)+f(b))/2+sun(f(a+k*(b-a)/N),kzl..N-l)));

/I Parsing aireTrap ‘
/[ Success comniling aireTran

Done

aireTrap(x->x2,10,0,1)

[Rien(f,a, b):={
sum ri emann(((b-a)/P)*f(a+p*(b-a)/P), [P, p])

Riem(x->x”2,-5,2)

B int(x"2,x=-5..2)

4*aireRect(x->sqrt(1-x/2),10000,0,1)
Evaluation time: 0.45

3.14139147761

4*aireTrap(x->sqrt(1-x"2),10000,0,1)
Evaluation time: 0.31

3.14159147761

evalf(Pi)
3.14159265359




mni(u,p):={

| ocal k;

k:=0;

while(eval f((ur(2*k+3))/(2*k+3))>10"(-p)) {
k: =k+1}

o

/I Parsing mini J
/[ Success compiling mini

greg(n,a, p):={

| ocal S, Kk;

S: =0;

for (k: =0; k<=n+1; k++) {

S: =S+eval f(((-1)"k*ar(2*k+1))/(2*k+1), p+1);

s
return(S);

/I Parsing greg
/[ Success comnpiling area

IOTVARTI))

4%(4*greg(69,1/5,100)-greg(69,1/239,100))
3.14159265359

4%(4*greg(69,1/5,100)-greg(69,1/239,100))-evalf(Pi,100)
- 2.85746847821e-101




